[t

E sjri MOA‘\\/\Q\ S__g@_}

o

ék | & we Con S’\/\Ow H/\Od’ o SeSe s
CC)/\\/ercﬁgj Usiflcj o e %\Q A[Jr‘e\fmc&{’(‘”j

Seres Hdesy or Hop [/\4@8@& Test, W
Ceany GSJr*imodr@ s Sunm

L""f
oA

EXamp\Qé Mo Caledlos e Sc\e/\__lg_&j; ¥
E_VL%W?\E’\"S ES Bvicﬁc\\g) Coc\f\wav\>5<;([[9{-(

Recell: 1€ $v=a for nein . 4 £60)
S w\posi“-\vq ide‘(reqs\‘nc] -%r x>y Hion

" .
%an jjg: foordy
QIWQ\(\ et Co/\ercj(J BT d\u&w‘c\ &

\fi %@3 Corverge we  on estmede Yo Sum
éan US\'/\CX ‘Cowv\u\o(g e deived ina CIQSS
= -

| € S:r%an 4 a\uziéa;:aﬁath a
Rpartial sum

He Eermainder Rpn = S-S
e e 1

CVIT Using S 1o eppraximate

e



§ fadw £ Ry £ S e Ay 2
e

ﬂvxe\mx?gr%aAk. Pof*: Since e tq3ucthj
Went Yae Maxirmom v Trot é: Nt \3&‘*’3
MU\QM\JM @y

' : !

0\5 S\/\a‘/&) V\—E }(—{13\/?_

Con s
\o\ HAd oo mane J‘@ﬁs ore neeqlg({

JV(”) ensuT ¢ %LQ (Rpei N\ Qo™ TS les s

Hoan 1073

= 1
0\\ N>y h‘3’2 ‘PwSéVkG s P = 3/2 s ‘ CQ/\UQJ‘ol ey
—?y e CC)&/lC\ d@ l/\\‘ecjrﬁ‘ﬁ “'GS%\ \/UZT(? )\ov*

Wt s &S X \H/Leb 1A+ 59@0(@\3



pooeh S% A
o X2 X
t -3,
‘(Z 7% S BZAY
= lim +
{:90\) 2 sz )'l
9 L
sl 1)z - | —~~2[o z
o - T
\/v\_,-z
= = S
T < 10 Rn< 1073
5, @ o
N7~ 3
2:10° < Nn
Lo £ N

2 000%< n

.= H00C 600 + | ':%looo) 00 \m

P\@CLSGU\'H\:S §QFPVC§Q& ‘\'{AOC‘Y \ duén}+ ‘QHGQ\
Crh Colculatd ¢ o Yais SN




4
B2 -

e ————

OQ-
Q) Shows = - Converges

e i N
\O> Moo mmts loryms are needed o

ensure He Yeronder s less ﬂ'{//r/\/\
03 7
C\ Usinc cur woll %M \OB %/\é
53
“'R/LQ LM(— ;,‘[f SetelSy Voo as é)@ \{{Q
e X ot val e OF Hoais SQY‘C@X

S0 e
A N R
- W%[Ot_'k‘:‘ - Slns 107 = TC\;TB
10? < 5w
1000 « 5,2



=2
2001/S <

2,33 < rn + On o Yest | Hails probolem
L uﬂ)\c\ ni_q.d) ‘o \GQIPO«X\SuS..SYQc\

N = | So qdu Could” Ao
= Y, @;\ 14 %wp\-{m&ﬁ— o

C &N uladn(

C
) Sn + S™Sesdx £ S, 4 G %60 dy
oo 2 <
/gg +S¢{ i‘ec\x~§ £€3+ S }}24,3%

rd =
bl ol L. L
Prrmt i 5 ‘*i‘c*gl;*—-%f%\—s
o

— |

\\F@r oAl ek s Ho NMaximomy Ve Usin
e Riest VS derms Yo estimade  He Sevtes:
| ngé g;:QQCK)Q\K = i%f"\—;ax

¥ See one of sur A3 Huwo hinls

on our ™oodle \‘DGLOSG oy on excun@\e
O(\l \/\C’V\) ‘\"6 d(() ‘\’Q/\CS \Q’ 2t g |
doosn't St ar wm=1 F/I: | Hainle
wou Shedld be able o <o \f\w%mﬁ Test on
Prdolws More N dopes N+ stect ot lDbuﬂL
) \,oou\ém’—’r ASWC tﬂ()ut +o QgHmodré Haose N
A Aos+-.




e
Recadl o 1§ we Wavw o Converzen A\Jmhm\;vfj
SQ(\@S RY\:\S“gn\ ) C\r\+\

f&%

C?kv S\AOW :! (?;,Hl Co&u@—o)é?y

‘95 Hoce f\ncva ferpms  Most  be SUMNAGA
So daat Ko vereinder  Ts
less Jf"Q/lc(/\ [th (>

S v
Dy = U s -
) [ =LA Cm Y / CmH SO

QKQCF@:Q\V“{;B \/
= | ~L —
V[ 70;3 CVL o l O \/

n>%’2Jer
C@/\M€5 }Cj AST
]DB Rni lS’gm[ <C!’L{—(
— " e S NT T S S U
?(gll?ﬂ h '31- +%— _\—7 1 \ +\3

Hais
Sust reolized e
w%nffm officient Qe s Pre
Cr =L < —L so <20+
ul

2(A+0 +( 2Nt}




|00 L 2n+73

10000 -3 £ n
=

Haag,5 < N

=499 +tevrimsg

Ex4] a) Shay =0
(=X Y _
=Nl > ) e A Co/\\/@ilé)s

D Moo mang Ferms Most e
Sumned S¢ Qf\ck\}‘ %@ e en - ndor

S lesg ‘H/W\ o742

O Want s Hud odhimode N
> =
CVL: //—ll'“? 2 CMH =L

RN
(N (;%L()L(
CJ-QQTQC(SCQQB \/
|t n : \h
h—aooCn: 1)\‘_‘;/20 _l\/l\* =0 /

Coxweﬂ\éb 2 AST
bﬁ RV\ < CVH*{

This one an e done

0 LI SR ey, S S N T ) |
\' V\%‘R*’ S T2% T3 R TSR Tga g T A %“/@

=
CV\- Sk N = (st +erm” e
) m 16 tevrms s absolue valee

S less Hun [07Y



< Ra4 Cary
SO we o 5\:&* Q/\Q\ CV\H :(i\\\q
C‘”\ ;a*

—4\4,1

(neyu o4

Int < (\/\H\L‘

1& h=9 ‘H/lecjci e @fzw\g S5 I g}

LS W3 Seos MNale @ @-\C LQ/L‘,

e | |
EKS ' Eg%th«w \M/LQ UO(!&,\Q oL %@

kmm;& conver) ~Q/\+ Seriex oy  cn absdde
ED

ero\r |03
f “y ) 1
= V\L‘JH CVL: HTG_T (h+r :(m—[)‘ﬂ-(
k L
- R < C/\+\ (h«»\\f*-#( < [OB
-\ _ L _ . A
Eji}*?& %@ l?}*ll % ’ 10> < Cnsyta ]V\ii
—~ [

OOO { < (V\Ja—\\q
‘ﬂ"féi’“‘ S WL s 42 <N



